
COMMON IONS

Table 1.4

CATIONS

 1+ Charge
                      
 2+ Charge
                       
 3+ Charge                      
H1+
hydrogen
Mg2+
magnesium
Al3+
aluminum

Na1+
sodium
Ca2+
calcium
Fe3+
iron(III)

K1+
potassium
Ba2+
barium
Cr3+
chromium(III)*

Cu1+
copper(I)
Zn2+
zinc


Ag1+
silver
Cd2+
cadmium


NH41+
ammonium
Hg2+
mercury(II)


Li1+
lithium
Cu2+
copper(II)




Pb2+
lead(II)




Fe2+
iron(II)


ANIONS

 1– Charge
                         
 2– Charge
                         
 3– Charge              
F 1‑
fluoride
O2‑
oxide
PO43‑
phosphate

Cl 1‑
chloride
S2‑
sulfide
P3‑
phosphide

Br 1‑
bromide
SO42‑
sulfate
N3‑
nitride*
I 1‑
iodide
SO32‑
sulfite

NO3 1‑
nitrate
CO32‑
carbonate

NO2 1‑
nitrite


OH 1‑
hydroxide


CN 1‑
cyanide*


CH3CO2 1‑
acetate*


HCO3 1‑
bicarbonate

NOTES
ClO 1‑
hypochlorite**

*     not in the list in the book
SCN 1‑
thiocyanate

**   textbook contains typo; THIS one is correct
ClO3 1‑
chlorate*


COMMON MOLECULES


DIATOMIC MOLECULES (“HOFBrINCl”)

H2
Hydrogen
O2
Oxygen
F2
Fluorine

Br2
Bromine
I2
Iodine
N2
Nitrogen

Cl2
Chlorine

MISCELLANEOUS COMMON MOLECULES

COMMON ACIDS
H2O
water


HCl

hydrochloric acid
H2O2
hydrogen peroxide


HCH3CO2
acetic acid (vinegar)
NH3
ammonia (not ammonium!  Be careful.)
HNO3

nitric acid
CH4
methane


H2SO4

sulfuric acid
CO2
carbon dioxide


H3PO4

phosphoric acid
CO
carbon monoxide


H2CO3

carbonic acid
NaCl
salt or table salt



COMMON FORMULAS
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q = m(TCp 

F = 1.8C + 32

K = C + 273
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pH = –log10[H+]

pH + pOH = 14

PV = nRT

(T = k·m
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COMMON CONVERSIONS

1 kg = 1000 g = 2.2 lb  = 35.27392 oz

1 m = 109 nm = 1010 Å = 39.37 in = 3.28 ft

1 m = 1000 mm

1 mile = 5280 ft

1 m3 = 1000 L = 35.3 ft3 = 264.2 US gal 

1 m3 = 106 cm3
1 L = 1000 mL

4 qt. = 1 gallon

1 atm = 760 mmHg  = 14.7 lbf /in2 = 101.3 kPa

1 cal = 4.18 J = 4.18 N·m = 10–3 Cal

1 V = 1 J/C

1 W = 1 J/s 

1 Hz = 1 w/s



COMMON CONSTANTS


[image: image6.wmf]gC

J

 

4.18

gC

cal

 

1

C

)

(

=

=

water

p


c = 3.0x108 m/s 

h = 6.63x10–34 J/Hz

NA = 6.02x1023

Kw = 1.0x10–14 M2
R = 0.0821 L·atm/mol·K = 8.314 J/mol·K 
= 62.4 L·mmHg/mol·K
= 62,400 mL·mmHg/mol·K
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